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5 14 0 0 0 0 0 0 0 0 1 2 0 2 3 1 2 1 1 1 0 5

= 16 0 0 1 1 0 2 0 1 1 1 1 0 2 2 1 1 1 1 0 =
AR IS
o5 214 1 2 2 2 4 1 4 7 10 2 12 11 27 32 19 16 25 24 13 13| #8451

5 111 1 1 1 2 4 1 2 5 8 1 1 8 13 17 11 8 9 7 9 5

= 103 0 1 1 0 0 0 2 2 2 1 5 3 14 15 8 8 16 17 8 =
&8 &3
o 288,816 11,003 12,175 12,799 13,483 13,452 14,117 15,882 18,052 20,987 21,638 19,081 19,092 18,912 20,951 17,841 14,668 11,743 8,343 4,997| 135,340|#4%

5 136,305 9,996 6,113 6,496 6,882 6,720 1,026 1,786 8,823 10,353 10,689 9,246 9,244 9,095 9,546 8,121 6,149 4,497 2,790 1,173 5

x 152,511 9,447 6,062 6,303 6,601 6,732 7,091 8,096 9,229 10,634 10,949 9,835 9,848 9,817 11,005 9,720 8,919 1,246 9,993 3,824 =

X COT—EIF (QARIE(BARIDE2EERT H_EELTHEYET,

X1 MRS, DNERZERG
X2 MR, DEFR
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